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1. Rz AEARA - 4 SR E 2 EE T

(A) 2000kg/m’ (B) 2400kg/m’ (C) 3000kg/m’ (D) 3600kg/m’
2. Mzt i 3000psi PP 5

(A) 300 kg/cm’ (B) 280 kg/cm’ (C) 245 kg/cm’ (D) 210 kg/cm’
3. AW LRI BATEERI P RS KRB MBI AT T E G

(A) 0.6kg/m” (B) 0.5kg/m” (C) 0.4kg/m’ (D) 0.3 kg/m’
4. “#FRE - AREXFL

(A) &3 -kik (B k-kik(C)® BRI #-KED) & 5Kk o
D, X7#E B oRE G E

(A)3.05 (B)3.15 (€)3.25 (D)3.3 -
6. kAl e (F.M ) 08 =5

(D FB)ERCO KA D)E Hi-o
7. B2 R (Slunp) H = 5

D FB)EARC) RS D)aE H o
8. BRI 2 %]‘*F&F'&? HAZ i

(A)45 (B)60 (C)90 (D)120 4 4& -
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